

$$S_1 = \Delta r \frac{a_1 + a_2}{r} = \Delta(a_1 + r d) \quad \left\{ \begin{array}{l} S_1 = \frac{1}{r} S_2 \\ \times (a_1 + r d) = \frac{\Delta}{r} (a_1 + r d) \\ a_1 + r d = \frac{1}{r} (a_1 + r d) \times r \\ a_1 + r d = a_1 + r d \rightarrow r a_1 = d \rightarrow a_r = a_1 + d = r a_1 \end{array} \right.$$

$t_n = t_{n-1} + t_a \rightarrow t_n - r_d + l_d$

$r_t + r_d = v_c$ $\epsilon d = r_o$

$t_q + t_a^r = (t_q + t_a) (t_q - t_a)$

$t_q^r + t_a^r = \frac{1 \times 100}{z_1 + r_d} = \frac{1 \times 100}{r_d} = r_o$

(y)

$t_1 = r(1 - \sqrt{r}) = r - r\sqrt{r}$
 $t_{1f} = r + \sqrt{r}$
 $t_{1f} - t_1 = d \rightarrow r + \sqrt{r} - (r - r\sqrt{r}) = d \rightarrow r\sqrt{r} = d \rightarrow \sqrt{r} = \frac{d}{r}$
 $d = \sqrt{r}$

$t_1 = r$, $t_n = r$ t_{n+1} n is new $= n+1$ y
 $d = \frac{t_n + t_1}{(n-r)+1} = \frac{r+r}{n-r} = \frac{r}{n-r}$ $t_1 + t_{n+1} = t_1 + (n+1-d)$
 $\frac{r}{n-r} = 9 \rightarrow r = 9n - 11$ $nd = 9 = n \cdot d = \frac{r}{n-r} = 9$
 $4n = 11 \Rightarrow n = r$

$$\underbrace{a_n + a_{n+f}}_{a_{r_0}} = \underbrace{a_f + a_{17}}_{a_{r_0}} \Rightarrow \text{begründet}$$

$$n + n + f = r_0$$

$$r_0 + f = r_0$$

$$r_0 = 17 \rightarrow n = 1$$

$$t_n = a_1 + r_0 d = r_0 (a_1 + r_0 d)$$

$$a_1 + r_0 d = r_0 a_1 + r_0^2 d \rightarrow r_0 a_1 = -r_0 d$$

$$a_1 = -d \rightarrow a_r = a_1 + d$$

$$a_r = -d + d = 0$$